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Name
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: ________________________

Class


: ________________________
Write your answers in the spaces provided on the question paper.

Neither electronic calculators nor mathematical tables may be used in this paper.
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Answer
a).............................. [1]

b).............................. [1]

2. Evaluate
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Answer
a).............................. [1]

b).............................. [1]

3. Express 209.15 correct to

a) 1 decimal place,

b) 2 significant figures.

Answer
a).............................. [1]

b).............................. [1]

4. Express 
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 as

a) a percentage,

b) a decimal.

Answer
a).............................. [1]

b).............................. [1]

5. Alice, Janet and Jenny share a sum of $1200 in the ratio of 2:3:7.

a) Calculate the amount Alice received.

b) How much more money did Jenny receive than Janet?

Answer
a).............................. [1]

b).............................. [2]

6. A map is drawn to a scale of 1:25 000.

a) Calculate the actual distance, in kilometres, represented by 8 cm on the map.

b) Two towns A and B are 5 km apart. Calculate, in centimetres, the distance between A and B on the map.

Answer
a).............................. [1]

b).............................. [1]

7. In a computer shop, the price of a scanner was displayed as $120 after a 20% discount.

a) Find the selling price of the scanner before the 20% discount.

b) By selling the scanner at $120, the shop owner made a profit of 25%. Calculate the cost price of the scanner.

Answer
a).............................. [2]

b).............................. [2]

8. A man deposits $5000 in a bank at an interest rate of 5% per annum.

a) How much interest will he get in 5 years?

b) After how many years will he have a total of $6750?

Answer
a).............................. [1]

b).............................. [2]

9. The cost of 1 kg of grapes is $2.50 and the cost of 2 kg of bananas is $1.40.

a) Find the cost of 2 kg of grapes and 3 kg of bananas.

b) Bananas are sold in multiple of kg. Ali has $6, how many kilogramme of bananas can he buy? 

Answer
a).............................. [2]

b).............................. [1]

10. The exchange rate between Singapore dollars (S$) and the US dollars (US$) was US$1 to S$1.60.

a) Mr Thomas changed US$60 into Singapore dollars. How many Singapore dollars did he receive?

b) Mr Thomas bought a camera at a cost of S$128. What was the cost in US$?

Answer
a).............................. [2]

b).............................. [2]

11. Jimmy leaves his home at 6.45 am and reaches school at 7.25 am. The school dismisses at 1.20 pm and the journey back home takes 50 minutes.

a) Find his travelling time, in minutes from home to school.

b) How long does Jimmy stay in school?

c) At what time does Jimmy reach home?

Answer
a).............................. [1]

b).............................. [1]

c).............................. [1]

12. In the diagram, AB is parallel to CD, CE is parallel to DB, 
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a) 
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Answer
a).............................. [1]

b).............................. [1]

c).............................. [2]

13. Simplify

a) 
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Answer
a).............................. [1]

b).............................. [1]

c) Solve the equation: 
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d) Given that 
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, find the value of

i) 
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Answer
a).............................. [2]

bi).............................. [1]

bii).............................. [1]

e) Complete the figure below such that the dotted line is the line of symmetry.
[2]

f) Complete the figure below so that it has rotational symmetry of order 4.
[2]


14. The histogram shows the result of a survey on the amount of pocket money each pupil in a class received per day. Calculate


a) the number of pupils who have less than $3.

b) the total number of pupils in the class.

c) the percentage of pupils who have more than $2.

Answer
a).............................. [2]

b).............................. [2]

c).............................. [2]

15. Each of the boys in a school was asked to name his past time activity. Their choices were shown in the pie chart below.

a) Calculate the value of x.

b) Given that 210 boys watched TV, calculate the number of boys who surfed internet.


c) Calculate the percentage of boys who jogged.

Answer
a).............................. [1]

b).............................. [2]

c).............................. [2]

16. A motorcyclist travels 96 km in 1 hour and 20 minutes. Calculate

a) his average speed, giving your answer in km/h.

b) the time taken, in hours and minutes, for him to travel 252 km.

Answer
a).............................. [2]

b).............................. [2]

17. The diagram shows a square of area 64 cm2. Calculate
a) the length of a side of the square,

b) the area of the shaded region,

c) the perimeter of the shaded region.

[Take 
[image: image20.wmf]142

.

3

=

p

]

Answer
a).............................. [1]

b).............................. [2]

c).............................. [3]

18. A salesman’s monthly salary is based on a basic salary of $800 and a commission of 5% of his monthly sales.

a) If his sale for the month of January is $25000, calculate his January salary.

b) If his salary for the month of February is $2300, calculate his February sales.

Answer
a).............................. [2]

b).............................. [3]
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